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BIERIE LERRE(A) BUAERERE(B) HER(A)-(B)

REBEING 135, 614, 629 124,745, 712 10, 868, 917

I IBERIN 0 0 0

o | 0 0 0
ZOMOUTE 0 0 0

o | [P-EXEmRES (1) 135, 614, 629 124, 745, 712 10,868, 917
| ANFE 106, 649, 724 102, 101, 839 4,547,885
[« BHE 11, 633, 273 11, 169, 695 463, 578
f( EHE 8,938, 559 9,620,519 -681, 960
g RAEEENES 5,210,723 5,179, 597 31,126
128 [EEHBEE IR S EAEREE -2,232,208 -2, 232, 208 0
i i EsEA%kE 0 0 0
M= ETEESE N 0 0 0
B snresm 0 0 0
BURTAES HEEA 0 0 0
ZOMbOBIF 0 0 0
Y-EXEBEMT (2) 130, 200, 071 125, 839, 442 4,360, 629
P-CEBMEHER (3) = (1) - (2) 5,414, 558 ~1,093, 730 6,508, 288
BASFSHEI RN 0 0 0
SRS SN 268, 735 55. 359 213,376
HRTEILE SR B T IR RN 0 0 0
e AT 0 0 0

i s 0 0 0

g BB TS 0 0 0
AT 0 0 0

‘lj ERBATE TR 0 0 0
gl |ErEEhs 0 0 0
2| |eotov-tzEBsHRE 1,573,897 1,168, 380 405,517
B [goeREm IRt (4) 1,842, 632 1.223. 739 618, 893
f: ZHFIR 0 0 0
| |HREbESEE R EASTINFIR 0 0 0
| | 0 0 0
O\ |aiEsEA 0 0 0
| & |1rEE Mm@ 0 0 0
B |1 Ea s 0 0 0
ERBIESTTIA 0 0 0
TR ST 0 0 0
ZOMOY L XEBSMEF 28, 308 73, 485 45177
Y-EXESIERET (5) 28,308 73, 485 -45, 177
Y-CEBIMEREE (6) = (4) - (5) 1,814,324 1,150, 254 664, 070
EHIEEEE (7) = (3) + (6) 7,228, 882 56, 524 7,172,358
MRS RN 0 0 0
R B RN 0 0 0
EESESMEASTREES I 0 0 0

g EEAESEE 0 0 0

B EE 0 0 0
ZOMORERIRE 0 0 0

:j HRIINZSET (8) 0 0 0
12 EAREMEALR 0 0 0
| |EEmE 0 0 0
Ol | s nE 264,011 0 264, 011
T o | EEm SR S I (RH%) 0 0 0
A | EEB 2 S RIS TR 0 0 0
piE= =LY 0 0 0
ZOMOREBIAK 0 0 0
WRIEAET (9) 264, 011 0 264, 011
HSRMERZRE (10) = (8) — (9) -264,011 0 -264,011
LEEBIGRAL (11) = (7) + (10) 6,964, 871 56, 524 6,908, 347
g HIARRBEENERZERE (1 2) 37, 306, 818 39, 249, 694 -1,942, 876
= | SARREEBIERELE (13) = (11) + (12) 44,271, 689 39,306, 218 4,065, 471
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BVERIE HERFRE(A) BIEERE(B) HEiR(A)-(B)
o | BASHGEE (14) 0 0 0
Z OO EREREEE (15) 5,000, 000 600 4,999, 400
# | ZOMOEIIEEEE (16) 6, 000, 000 2,000, 000 4,000, 000
o [ ETERER (17) = (13) + (14) + (15) - (16) 43,271, 689 37,306,818 5, 964, 871




